Name Date

Problem Solving:
Choose the Operation

Add or subftract to solve.

I. There are 8 puppies asleep in

. the basket. Some of the puppies
wake up. Now D puppies are
still sleeping. How many
puppies are awake?

pupples ore owoke

- Draw or write to explain. .

2. There are '-| gray kl’r’rens In ’rhe :

yard. There are H orange kittens
on the porch. How many kittens
are there in both places?

_______ kittens in both places

‘Test Prep

Fill in the © for the correct answer. NH means Not Here.

3. Ramon sees 9 kittens in the pet sho

p window.

He sees 6 puppies there, too. How many
fewer puppies than kittens does Ramon see

in the pet shop window?

3 4 5 NH

O O O O
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